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Q.1 What is the antecedent of the pronoun "it" in the sentence:
"The cake was delicious, and | ate it all"?

Ans X 1.Ate
o” 2. Cake
X 3. Delicious
X 4.1

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

1 630680453722
: 6306801771847
1 6306801771844
: 6306801771846
: 6306801771845
Status :
Chosen Option :

Not Answered




Q.2
Ans

Comprehension:

Read the following passage and answer the questions below.

Reading is a magical journey that allows us to transcend the confines of our physical
surroundings and embark on adventures that span across time and space. It serves as a
passport to uncharted territories, a window through which we can peer into the annals of
history, and a gateway leading us to the boundless possibilities of the future. When we pick
up a book, we are not merely flipping through pages; we are stepping into the shoes of the
characters, living their joys and sorrows, and experiencing their triumphs and trials.

The benefits of reading extend far beyond the acquisition of knowledge, although that is
certainly one of its invaluable perks. With each word absorbed, our vocabulary blossoms like
a garden in spring, enabling us to express ourselves more eloquently and persuasively.
Moreover, reading fosters empathy, allowing us to connect with the diverse range of
characters we encounter in literature. We feel their emotions, share in their struggles, and
celebrate their victories, all from the comfort of our own world.

In a world bustling with distractions, the act of reading provides a sanctuary for the mind, a
tranquil refuge where we can retreat to find solace and enlightenment. It fuels our
imagination, encouraging it to take flight like a majestic bird soaring through the limitless
skies. So, with a book in hand, we are not just reading; we are embarking on a grand odyssey
of the mind and spirit, exploring the vast tapestry of human experience, and uncovering the
treasures of wisdom hidden within the written word. Therefore, | implore you, dear students,
to pick up a book, open its pages, and let your imagination soar to heights yet unknown.
SubQuestion No : 2

How does reading benefit our vocabulary?

” 1. It allows us to express ourselves more eloquently.
/5 2. It helps us learn about the annals of history.
5 3. It makes us empathetic towards others.

& 4. It leads to the acquisition of boundless possibilities.

Question ID :
Option 11D :
Option 2D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

630680456056
6306801781166
6306801781163
6306801781165
6306801781164
Answered

1




Q.3
Ans

Comprehension:

Read the following passage and answer the questions below.

Reading is a magical journey that allows us to transcend the confines of our physical
surroundings and embark on adventures that span across time and space. It serves as a
passport to uncharted territories, a window through which we can peer into the annals of
history, and a gateway leading us to the boundless possibilities of the future. When we pick
up a book, we are not merely flipping through pages; we are stepping into the shoes of the
characters, living their joys and sorrows, and experiencing their triumphs and trials.

The benefits of reading extend far beyond the acquisition of knowledge, although that is
certainly one of its invaluable perks. With each word absorbed, our vocabulary blossoms like
a garden in spring, enabling us to express ourselves more eloquently and persuasively.
Moreover, reading fosters empathy, allowing us to connect with the diverse range of
characters we encounter in literature. We feel their emotions, share in their struggles, and
celebrate their victories, all from the comfort of our own world.

In a world bustling with distractions, the act of reading provides a sanctuary for the mind, a
tranquil refuge where we can retreat to find solace and enlightenment. It fuels our
imagination, encouraging it to take flight like a majestic bird soaring through the limitless
skies. So, with a book in hand, we are not just reading; we are embarking on a grand odyssey
of the mind and spirit, exploring the vast tapestry of human experience, and uncovering the
treasures of wisdom hidden within the written word. Therefore, | implore you, dear students,
to pick up a book, open its pages, and let your imagination soar to heights yet unknown.
SubQuestion No : 3

What analogy is used to describe imagination in the passage?

«” 1. Imagination as a majestic bird soaring through the limitless skies
/5 2. Imagination as an endless desert.
#< 3. Imagination as an open book.

/< 4. Imagination as a burdensome cloud.

Question ID :
Option 11D :
Option 2D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

630680456058
6306801781173
6306801781172
6306801781171
6306801781174
Answered

1




Q.4
Ans

Comprehension:

Read the following passage and answer the questions below.

Reading is a magical journey that allows us to transcend the confines of our physical
surroundings and embark on adventures that span across time and space. It serves as a
passport to uncharted territories, a window through which we can peer into the annals of
history, and a gateway leading us to the boundless possibilities of the future. When we pick
up a book, we are not merely flipping through pages; we are stepping into the shoes of the
characters, living their joys and sorrows, and experiencing their triumphs and trials.

The benefits of reading extend far beyond the acquisition of knowledge, although that is
certainly one of its invaluable perks. With each word absorbed, our vocabulary blossoms like
a garden in spring, enabling us to express ourselves more eloquently and persuasively.
Moreover, reading fosters empathy, allowing us to connect with the diverse range of
characters we encounter in literature. We feel their emotions, share in their struggles, and
celebrate their victories, all from the comfort of our own world.

In a world bustling with distractions, the act of reading provides a sanctuary for the mind, a
tranquil refuge where we can retreat to find solace and enlightenment. It fuels our
imagination, encouraging it to take flight like a majestic bird soaring through the limitless
skies. So, with a book in hand, we are not just reading; we are embarking on a grand odyssey
of the mind and spirit, exploring the vast tapestry of human experience, and uncovering the
treasures of wisdom hidden within the written word. Therefore, | implore you, dear students,
to pick up a book, open its pages, and let your imagination soar to heights yet unknown.
SubQuestion No : 4

According to the passage, reading helps us do all of the following EXCEPT:

4 1. Disconnect from the world
/< 2. Understand the future
5 3. Explore the past

& 4. Enhance vocabulary

Question ID :
Option 11D :
Option 2D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

630680456057
6306801781170
6306801781169
6306801781167
6306801781168
Answered

1




Comprehension:

Read the following passage and answer the questions below.

Reading is a magical journey that allows us to transcend the confines of our physical
surroundings and embark on adventures that span across time and space. It serves as a
passport to uncharted territories, a window through which we can peer into the annals of
history, and a gateway leading us to the boundless possibilities of the future. When we pick
up a book, we are not merely flipping through pages; we are stepping into the shoes of the
characters, living their joys and sorrows, and experiencing their triumphs and trials.

The benefits of reading extend far beyond the acquisition of knowledge, although that is
certainly one of its invaluable perks. With each word absorbed, our vocabulary blossoms like
a garden in spring, enabling us to express ourselves more eloquently and persuasively.
Moreover, reading fosters empathy, allowing us to connect with the diverse range of

characters we encounter in literature. We feel their emotions, share in their struggles, and

celebrate their victories, all from the comfort of our own world.

In a world bustling with distractions, the act of reading provides a sanctuary for the mind, a

tranquil refuge where we can retreat to find solace and enlightenment. It fuels our

imagination, encouraging it to take flight like a majestic bird soaring through the limitless
skies. So, with a book in hand, we are not just reading; we are embarking on a grand odyssey
of the mind and spirit, exploring the vast tapestry of human experience, and uncovering the
treasures of wisdom hidden within the written word. Therefore, | implore you, dear students,
to pick up a book, open its pages, and let your imagination soar to heights yet unknown.

SubQuestion No : 5
Q.5 What is the paragraph's overall message to the students?
Ans X 1.Reading is a solitary and boring activity.

«” 2. Reading is an essential aspect of personal development.
/% 3. Reading is only for those interested in history.
/X 4. Reading is a chore that should be avoided.

Question ID :
Option 11D :
Option 2D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

630680456055
6306801781162
6306801781160
6306801781161
6306801781159
Answered

2

Q.6 What is the correct order of words in a standard English sentence?
Ans 1. Subject - Verb - Object

& 2. Subject - Object - Verb
/< 3. Object - Verb - Subject
& 4. Verb - Subject - Object

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680453721
6306801771841
6306801771843
6306801771840
6306801771842
Answered

1




Q.7
Ans

Comprehension:
Read the given poem and answer the questions based on it:

We like to think of it as parallel to what we know,
Only bigger. One man against the authorities.

Or one man against a city of zombies. One man
Who is not, in fact, a man, sent to understand

The caravan of men now chasing him like red ants
Let loose down the pants of America. Man on the run.
Man with a ship to catch, a payload to drop,

This message going out to all of space. . . . Though
Maybe it's more like life below the sea: silent,
Buoyant, bizarrely benign. Relics

Of an outmoded design. Some like to imagine

A cosmic mother watching through a spray of stars,
Mouthing yes, yes as we toddle toward the light,
Biting her lip if we teeter at some ledge. Longing
To sweep us to her breast, she hopes for the best
While the father storms through adjacent rooms
Ranting with the force of Kingdom Come,

Not caring anymore what might snap us in its jaw.

SubQuestion No : 7
Which of the following best summarizes the passage?

& 1. The passage describes the parallel between life above and below the sea and the
pursuit of knowledge.

" 2. The passage reflects on a man's flight from putstiers and his mission to
communicate with extraterrestrial life.

/5 3. The passage discusses a man's escape from a city of zombies and his quest to send
a message to space.

#5 4. The passage explores the cosmic mother's protective instincts towards humanity and
the father's anger.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680453718
6306801771831
6306801771830
6306801771828
6306801771829
Not Answered




Comprehension:
Read the given poem and answer the questions based on it:

We like to think of it as parallel to what we know,
Only bigger. One man against the authorities.

Or one man against a city of zombies. One man
Who is not, in fact, a man, sent to understand

The caravan of men now chasing him like red ants
Let loose down the pants of America. Man on the run.
Man with a ship to catch, a payload to drop,

This message going out to all of space. . . . Though
Maybe it's more like life below the sea: silent,
Buoyant, bizarrely benign. Relics

Of an outmoded design. Some like to imagine

A cosmic mother watching through a spray of stars,
Mouthing yes, yes as we toddle toward the light,
Biting her lip if we teeter at some ledge. Longing
To sweep us to her breast, she hopes for the best
While the father storms through adjacent rooms
Ranting with the force of Kingdom Come,

Not caring anymore what might snap us in its jaw.

SubQuestion No : 8
Q.8 What is the significance of the "message going out to all of space"?
Ans X 1.lIt's a call for help from the protagonist.

¥ 2. It's a metaphor for the protagonist's quest for knowledge.
#< 3. It represents the protagonist's desire for communication.

< 4. It symbolizes the protagonist's mission or purpose.

Question ID : 630680453719
Option 1 ID : 6306801771832
Option 2 ID : 6306801771833
Option 3 ID : 6306801771834
Option 4 ID : 6306801771835
Status : Not Answered
Chosen Option : ==




Q.9
Ans

Comprehension:

Read the given poem and answer the questions based on it:
We like to think of it as parallel to what we know,
Only bigger. One man against the authorities.

Or one man against a city of zombies. One man

Who is not, in fact, a man, sent to understand

The caravan of men now chasing him like red ants
Let loose down the pants of America. Man on the run.
Man with a ship to catch, a payload to drop,

This message going out to all of space. . . . Though
Maybe it's more like life below the sea: silent,
Buoyant, bizarrely benign. Relics

Of an outmoded design. Some like to imagine

A cosmic mother watching through a spray of stars,
Mouthing yes, yes as we toddle toward the light,
Biting her lip if we teeter at some ledge. Longing

To sweep us to her breast, she hopes for the best
While the father storms through adjacent rooms
Ranting with the force of Kingdom Come,

Not caring anymore what might snap us in its jaw.

SubQuestion No : 9
What is the primary literary device used in this passage?
& 1. Alliteration

¥ 2. Metaphor
X 3. Personification
X 4. Irony

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680453717
6306801771825
6306801771824
6306801771827
6306801771826
Not Answered




Comprehension:
Read the given poem and answer the questions based on it:

We like to think of it as parallel to what we know,
Only bigger. One man against the authorities.

Or one man against a city of zombies. One man
Who is not, in fact, a man, sent to understand

The caravan of men now chasing him like red ants
Let loose down the pants of America. Man on the run.
Man with a ship to catch, a payload to drop,

This message going out to all of space. . . . Though
Maybe it's more like life below the sea: silent,
Buoyant, bizarrely benign. Relics

Of an outmoded design. Some like to imagine

A cosmic mother watching through a spray of stars,
Mouthing yes, yes as we toddle toward the light,
Biting her lip if we teeter at some ledge. Longing
To sweep us to her breast, she hopes for the best
While the father storms through adjacent rooms
Ranting with the force of Kingdom Come,

Not caring anymore what might snap us in its jaw.

SubQuestion No : 10

Q.10 What is the meaning of "outmoded" as used in the passage?

Ans

& 1. Eccentric and unusual
< 2. Recently designed
X 3. New and innovative

«” 4. No longer in fashion or use

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680453720
6306801771838
6306801771839
6306801771836
6306801771837
Answered

4

Section : Part 1 General Odia




Q1 “gdgpaa gégl F4IR | 7 98] 686 ANER ]IQY?

Ans

Comprehension:

FANGIS dQUIPEIg IR 98° YLl 2ARIFEA J99E00 Qe G2

Qs

f168 QIE g6a QlaIa 98IF,
6Rd-Bla6g 5621 A1 IS |
JSIQER 9o F4la,

A8 AU HIAS 6966 QR ?
69 G Q6@ 567 @ QIR
AQRQ 2R 6969 I AGIR ?
2l6m 2691 698 AQRR N,
3% dell 0R 291 @FNen,
2641 62IR 698 I°9R ST,

IRl IR 68 2GS |
SubQuestion No : 1

o 1. 800219

X 2.9991¢ Gae

X 3. 2999

X 4. 50U Q684 @R

Question ID :
Option 11D :
Option 2D :
Option 3ID :
Option 4 ID :
Status :

Chosen Option :

630680452658
6306801767644
6306801767646
6306801767643
6306801767645
Answered

3




Q.2
Ans

Comprehension:
FANGIS dQUIPEIg 9Rg 98° YLl 2RIDEA J99E0R Qe G2

Q%94

f168 QIE g6a QlaIa 98IF,
628o1-Gla64 G641 a1 I8 |
JSYQER 9o F4la,

3@ AP HRS 6966 QIR ?
69 JoYY 06Q G6R @ QIR
A9 2R 6962 Bl FGIR ?
2l6m 2691 698 AQRR N,
3% dell 0R 291 @FNen,

2641 62IR 698 I°9R ST,

ARSI I8 62 2IGE |

SubQuestion No : 2
AR GS Q19 K6 YMI?
X 1.684l
X 2. 6ql8m
o 3. oheP
X 4.99

Question ID :
Option 11D :
Option 2D :
Option 3ID :
Option 4 ID :
Status :

Chosen Option :

630680452659
6306801767649
6306801767650
6306801767647
6306801767648
Answered

3




Q.3
Ans

Comprehension:
FANGIS dQUIPEIg 9Rg 98° YLl 2RIDEA J99E0R Qe G2

Q%94

f168 QIE g64 QleIa 8IS,
6a6o1-Gla64 G641 a1 I8 |
JSIQER 9o F4la,

3@ AP HRS 6966 QIR ?
69 JoYY 06Q G6R @ QIR
A9 2R 6962 Bl FGIR ?
2l6m 2691 698 AQRR N,
3% dell 0R 291 @FNen,

2641 62IR 698 I°9R ST,

ARSI I8 62 2IGE |

SubQuestion No : 3
QD ALUIPSIER “6991Q1"6aQ 22d6q QUege ?
K1l

o 2.9°Q
X 3.91g
X 4. g

Question ID :
Option 11D :
: 6306801767642
Option 3ID :
Option 4 ID :
Status :

Chosen Option :

Option 2 ID

630680452657
6306801767640

6306801767641
6306801767639
Answered

2




Comprehension:
FANGIS dQUIPEIg IR 98° YLl 2RINEA 99600 Qe Gag

Q994

f168 QIS §64 QIRIR 98IF,
626o1-Gla64 g6¢1 Il I8 |
JSIQER 9o F4la,

3@ QAR HRS 6966 QIR ?
69 9oY 6w B6R @ QIR
QS 2R 6966 G AGIR ?
26m 26 699 QR e,
3% dell 0R 291 aFNen,

2641 62IR 698 I°9R ST,

ARSI IR 62R AAGG |
SubQuestion No : 4
Q4 6QQ SI8T “9F” S9q 959 ?
Ans X' 1 Q94

X 2.6l

X 3.97%

o 4. 29
Question ID : 630680452660
Option 1 ID : 6306801767652
Option 2 ID : 6306801767654
Option 3 ID : 6306801767651
Option 4 ID : 6306801767653

Status : Answered
Chosen Option : 4
Q5 60Q% “QY’a 9G4S 6897
Ans 7 1.Q@IQ

X299

X 3. Q4

X 4.6Q1Q
Question ID : 630680452661
Option 1 ID : 6306801767656
Option 2 ID : 6306801767655
Option 3 ID : 6306801767658
Option 4 ID : 6306801767657

Status : Answered

Chosen Option :

1




Q.6 6Q0E “668E” SR GIQY QE?

Ans X 12199
o 2. 699
X 3. QRdIRel
X 4. 90l
Question ID : 630680452662
Option 1 ID : 6306801767660
Option 2 ID : 6306801767659
Option 3 ID : 6306801767662
Option 4 ID : 6306801767661
Status : Answered
Chosen Option : 2
Comprehension:
FIMGIS AQUICEIg JRg 9L° 9Ll 2ARIAER YL 2@ Gag
[BRE YIRS FLllg
66Q74l ALIRQUIRGQ ARG eved FIFLIER 8.9, AIF F6M | 9961 94Iqd 9LSI 696R Gl
ORISR QIEE FRIR 29l 69979 696974l 818 AANSAE QI exean 69mg JUER e
[EM B G6ERN6RE AIT6R QAIRR Agaem | AISASIF 6Ll AR YIRS JoU dlem|
6910169 69 GBI SER OF ATl FEIR F6M | RS Qg 8.9 aReIaIR AU 6G6R |
YIRS 9g 6T U6Q FIF G 62Ml | R RIGHS! U6 62T6R 64RINA YRGS
QURIR Q994 gRlsgIRml | 86l QUISERIG Gl TR A1 AG F6M 62, AYIRIS SR
A6 FRRIGP 6RIRTIEM | ﬁ?ﬁﬁlﬁl QIRIR UAQIAR0IQ 69 Q18I FLE *QRI6M | BIFR aauasieq
69 @RELRCI 6TlNRIRIS 9F AATe 6241 qés; FPR-0GedE 29D 6T6M | 2R a1
RIS G IR6RQ FGIRI |
SubQuestion No : 7
Q7 @9 agIelew AVRISR?
Ans 7 1. QIS4
5 2. 6qllngll
X 3. QIeee
X 4. a9l
Question ID : 630680452612
Option 1 ID : 6306801767489
Option 2 ID : 6306801767488
Option 3 ID : 6306801767490
Option 4 ID : 6306801767487
Status : Answered
Chosen Option : 3




Comprehension:

FIRYS FQUICAG URG 99° YLl 2RINEA IFFERN 289 Jag
R85 AYIRIS ALIDIR

[§atal ﬂ@l@@qlﬁ?ﬂ@ QYIRS eced ¢19LI6R §.4. AIF @6M | IRGI 94T LRl 696R Gl
ORISR QDS SRR 281 69979 696914l I8 RANTAE 1 e GG‘E‘Q g6 SIeQ
FQRI6M B GEERNERE AIT6R RN AT | AFNTAEIG 6Q5l RN ﬁﬁgﬁ?l‘a g glem |
690169 69 Gl ISER A@ WoIGIAl @4le F6M | AANSAE Qlg §.9M. 9LIIIR X AUANE 6Q6M |
AYIRIe Qog PRI 969 BIg G2 68l | G RIS U6 6626 64Qlm @LS\IGQI‘J‘{
QR 2099 gRIFIAIRR! | T, QUFILRIG Gl SRR AL JAQ F6R 6%, AFIRIe AINaG
46D SRRIEF 6TIRTEM | RYQ FIRIRT AUALIIS0IQ 69 Q1Y G2 *AY6M| SIS aaueigien
69 @REGRGI 6TlANRIRIS 9F aade 6as! 99 9169-000gE 2198 626 | 2R AYIRISE
QeI QG IRIER AT |

SubQuestion No : 8
Q8 Q6aN6Se AIE- 6800 29ge?
Ans X 1. 66l
X 2. 99684
o 3. 991
X 4.999

Question ID : 630680452610
Option 1 ID : 6306801767482
Option 2 ID : 6306801767481
Option 3 ID : 6306801767480
Option 4 ID : 6306801767479
Status : Answered
Chosen Option : 3

Comprehension:
FIMGS AQUICEg JRg 9K° 9Ll 2ARINER LR 2R Gag

[2RE YIRS FILllg

696002l ATRMIRAQ AFIRIS evem FATIER 3.9, UIF A6M | 9GQI I4IqT GRS 6967 CIF
ORISR QAT SRIR 2SI 6997E 6860721 BIS AFUSNE TIF eted 687 JBI16R SIRR
FPUEA 6 FEARETE AT6R TR AFAUEA | RAITAEF 6951 RIS AFINIS o1 SI6R
690169 69 Gl AIS6R A& K9Gl O<le F6R | QLIS Bl &.9A. aRSIdR aslas 696/ |
AYIRIE I9g 627RIAR1 968 Gl §8 62Rl | G0 SIGHSI J69 62262 6IFIRR FAISAITY
QUIE QEgE gRIFIRRl | 36!, AUSEIS CIF FRdIa Ag 9ag F6M 6%, ATIRIS SRR
9960 FaRIE 6TIRGIER | GRIQ ISR AFLIIFOIQ 69 G198 F26 GR26n | SIE Aslaea
69 @R6QeG! 6alitNRlaa 96 9ade 624l 95'e H1ER-ARRgE 2I9e 626M | 92Q AIRISH
FIRRISI 0 FRI6R SR |

SubQuestion No : 9

Q.9 QAISQE Bl §.9M. A8 AR ARUAE 696M-9F SIRYER “CIF”- FILIUIRN SYSLE
6LIRE?

Ans X' 1 6qlaglel
X 2. @lee
o 3. YR
X 4. a1

Question ID : 630680452611
Option 1 ID : 6306801767485
Option 2 ID : 6306801767486
Option 3 ID : 6306801767483
Option 4 ID : 6306801767484
Status : Answered
Chosen Option : 3




Comprehension:
FANGIS QU EIg IRY 98° ¥l 2ARIFER JIFERR Qe Gag

QILRT AYIRIS ALIAIS

696024l ALIRQUIRYQ AFIRIS eved FIFLIER §.9. FIF f6m | IRGI 94IQd LRl 6967 Gl

2RISR QDS SRR 281 69979 69694 I8 RANTAE 1 e 6Qfg goUe IR
FQRI6M B GEERNERE AT LR IS | AFNTAEF 665! RERITIR AF1FIS g1 6

eml

690169 69 SIF AIYER AT GG AEE F6M | ACUTAE Gl §.IR. AR AUEIE 6Q6R |
AYIRIS E9g 6FRATR U6 Gl §2 62MI | § RITFI 960 69269 69FIRA GRS
QRIS 2AS RIFAIRRI | TG, AUFLEIIG SIF FRAR AL YAF F6A 62, AFIRIG AINAR
2969 FARISF 6LIRTER | FRYR FULIFT AUAIIFO0IR 69 @181 L6 FTR6R| FIFa aalessa
69 §R6Q90! calTRIAE 9% AeIde 6891 9SR H1ER-0RYE 2I98 686R | Y2R AYIISR

QeI QG IRIER AT |

SubQuestion No : 10
Q.10 Q@ AFERIER “60IEN"- FILIUIRN FYSLS 6LINR?

Ans X' 1.6969q4l
X 2. @992
o 3. g9
X 4. 9Q18QYIRL
Question ID : 630680452613
Option 1 ID : 6306801767494
Option 2 ID : 6306801767492
Option 3 ID : 6306801767491
Option 4 ID : 6306801767493
Status : Answered
Chosen Option : 3
Section : Part 1 General Knowledge and Current Affairs
Q.1 All B vitamins help the body convert food (carbohydrates) into (fuel), which is
used to produce energy.
Ans 1. glucose
& 2. oxygen
& 3. carbon dioxide
& 4. water vapor
Question ID : 630680453362
Option 1 ID : 6306801770459
Option 2 ID : 6306801770456
Option 3 ID : 6306801770457
Option 4 ID : 6306801770458
Status : Answered
Chosen Option : 1
Q.2 The exploitation of as a source of energy made the industrial revolution possible.
Ans 1. coal
< 2.gold
& 3. oxygen
& 4. silver
Question ID : 630680453374
Option 1 ID : 6306801770506
Option 2 ID : 6306801770504
Option 3 ID : 6306801770507
Option 4 ID : 6306801770505
Status : Answered

Chosen Option :

1




Q.3 Maharaja Sai’s widow

to succeeded him, as a result of which conflict arose as

tribal zamindars also did not like a woman to be their state head as the custom of the

land did not allow this practice.

Ans  # 1. Rani Mohan Kumari
/5 2. Rebati Devi
# 3. Raghu Devi

< 4. Tribhuvan Devi

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680453356
6306801770432
6306801770433
6306801770434
6306801770435
Not Answered

Q4 QIeeq ULIE 98 656l (2 A6KUSR,2022) | ARG 6LNVE F6R 1 1 mAQ 2
emlagq°siul 291 QURY 6816116 490IQ g8 QURY 68ml |

o 1. 6181 9694l
X 2. 6502l
X 3.634l
X 4. 289 g6a4

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680453350
6306801770408
6306801770411
6306801770410
6306801770409
Not Answered

Q.5 There shall be a Council of Ministers with the
President who shall in the exercise of his functions, act in accordance with such
advice.

Ans X 1.Attorney General
#< 2. Governor
75 3. Governor General

¥ 4. Prime Minister

at the head to aid and advise the

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 ID :

Status

630680453386

6306801770554
6306801770552
6306801770555
6306801770553

: Answered
Chosen Option :

4




Q.6
Ans

became new Prime Minister of Nepal, appointed in December 2022.
75 1. Girija Prasad Koirala

o 2. Pushpa Kamal Dahal
/< 3. Ram Chandra Paundel
#< 4. KP Sharma Oli

Question ID : 630680453343
Option 1 ID : 6306801770381
Option 2 ID : 6306801770382
Option 3 ID : 6306801770383
Option 4 ID : 6306801770380
Status : Not Answered
Chosen Option : ==
Q.7 @q 21,2023 GF 65196Q BEFIQ FHUAG 99 QUITEAT Q@ elReem | aI g2l
REANATFR 621G 2ISFULCIG I8 KRSl QY 269 |
Ans X' 1. q8Ag1 QIm SRl 6QIRQl
X 2. qHuag 6916 61K
&K 3. goliagl AILI9 61RR
o 4. oNag 2]°Q§i J8 621QQ!
Question ID : 630680453338
Option 1 ID : 6306801770363
Option 2 ID : 6306801770362
Option 3 ID : 6306801770360
Option 4 ID : 6306801770361
Status : Not Answered
Chosen Option : --
Q.8 Eurasian plate is an example of a
Ans X 1.non tectonic plate
/X 2. solely oceanic plate
«” 3. continental plate
X 4. pacific plate
Question ID : 630680453392
Option 1 ID : 6306801770579
Option 2 ID : 6306801770578
Option 3 ID : 6306801770576
Option 4 ID : 6306801770577
Status : Answered
Chosen Option : 3




Q.9

q0Q <IeUg 5g¢ /9g: -

(A) 21698 QI15gY 6208 69T LG, 6AQY6R ERIFAICS AFAST AFIRER TINILIR
R19RUINE FlIS SRIA QG UIR ISR 62RYS| ASFE LA ARUS QF2AIN |

(B) 26ARR QINGY 620& 69T ASFI, 6ANYUEH 6RAIFAICT AFAS ATNGER TUNLIR
FISEUNE AIS SRIA QYS! AR AIKSUS 62T ATRIS AIAR ARUS QT2 |

Ans 2 1.6000 ADq 269
52 @@EXAGBGQ‘ZIGS‘
X 3. Q069U FRIQ 6716TT g6E
X 4.699% B 0] &6%
Question ID : 630680453368
Option 1 ID : 6306801770480
Option 2 ID : 6306801770482
Option 3 ID : 6306801770483
Option 4 ID : 6306801770481
Status : Answered
Chosen Option : 1
Q.10 was one of the leading founders of reform societies like the Poona Sarvajanik
Sabha and the Vaktruttvottejak Sabha.
Ans X 1.VD Savarkar
< 2. Vinoba Bhave
«” 3. Govind Ranade
& 4. BR Ambedkar
Question ID : 630680453380
Option 1 ID : 6306801770528
Option 2 ID : 6306801770529
Option 3 ID : 6306801770531
Option 4 ID : 6306801770530
Status : Answered
Chosen Option : 3
Section : Part 1 Reasoning Ability
Q.1 Two Statements are given followed by two conclusions numbered I and II. Assuming the statements to be true, even if they seem to
be at variance with commonly known facts. decide which of the conclusions logically follow(s) from the statements.
Statements:
Statement I: Some cats are dogs.
Statement II: No dog is a lion.
Conclusions:
Conclusion I: Some dogs are not cats.
Conclusion IT: Some lions are dogs.
Ans X 1. Both conclusions I and II follow
X 2. Only conclusion I follows
« 3. Neither conclusion I nor IT follows
X 4. Only conclusion II follows
Question ID : 630680453330
Option 1 ID : 6306801770330
Option 2 ID : 6306801770328
Option 3 ID : 6306801770331
Option 4 ID : 6306801770329
Status : Answered
Chosen Option : 3




Q.2 Four letter-cluster pairs have been given, out of which three are alike in some manner and one is different. Select the odd letter-

cluster pair.

Ans X 1. OK:QN

2 EU:GY
X3 WB:YE
X 4 UE:WH
Question ID : 630680453312
Option 1 ID : 6306801770259
Option 2 ID : 6306801770257
Option 3 ID : 6306801770256
Option 4 ID : 6306801770258
Status : Answered
Chosen Option : 2
Q.3 Inaclass, Subham ranks 18th from the top. Saloni ranks 23rd from the bottom. There are 35 students whose ranks are in between
Subham's and Saloni's. Find the rotal number of students in the class.
Ans X 1. 78
2. 76
X3 75
x4 77
Question ID : 630680453318
Option 11D : 6306801770281
Option 2 ID : 6306801770283
Option 3 ID : 6306801770282
Option 4 ID : 6306801770280
Status : Answered
Chosen Option : 3
Q.4 If Mdenotes “addition’, N denotes ‘multiplication®, O denotes ‘subtraction’, and P denotes *division’, then what will be the value of
the following equation?
I4MION28P404="7
Ans X 1. 124
X2 48
X 3 180
« 4. 80
Question ID : 630680453276
Option 1 ID : 6306801770114
Option 2 ID : 6306801770112
Option 3 ID : 6306801770115
Option 4 ID : 6306801770113
Status : Answered
Chosen Option : 4




Q.5 45 9564a ANE-CB6S 9618 ZH9g 99 §F GaIL, 5660 JaR 606 696515 280-0E 1 QuBaads 2Ing 624 95°
QUBeedea 669 629 7

LOGIC FRIED DRAIN HINGE PRANK

Ans X 1.4
X273
3 2
X4 4

Question ID : 630680453288
Option 1 ID : 6306801770162
Option 2 ID : 6306801770161
Option 3 ID : 6306801770160
Option 4 ID : 6306801770163
Status : Answered
Chosen Option : 3

Q.6 Inacertain code language, if COURSE is coded as DPVESR, TOWARD is coded as UPXDRA, then what will FREQUENT be
coded as?

Ans  x 1. QERFTNEU
X 2. QERFVFOU

+ 3. GSFRTNEU
X 4 GSFRVFOU

Question ID : 630680453300
Option 1 ID : 6306801770210
Option 2 ID : 6306801770209
Option 3 ID : 6306801770211
Option 4 ID : 6306801770208
Status : Answered
Chosen Option : 3

Q7 If X = Y means ‘X is the wife of ¥

If “X+ Y’ means ‘X is the husband of Y.
If“X+Y means ‘Xisthesonof Y.
If ‘X —Y" means ‘X is the daughter of Y.

How is P related to Q in the expression ‘P> R+ S + Q"?
Ans X 1. Mother-in-law

X 2. Wife

« 3. Daughter-in-law

X 4. Sister

Question ID : 630680453294
Option 1 ID : 6306801770187
Option 2 ID : 6306801770186
Option 3 ID : 6306801770185
Option 4 ID : 6306801770184
Status : Answered
Chosen Option : 3




Q.8 Select the option that is related to the third number in the same way as the second number is related to the first number.

324:18::784: 7

Ans X' 1. 20
2 28
X3 26
X4 22
Question ID : 630680453282
Option 1 ID : 6306801770136
Option 2 ID : 6306801770139
Option 3 ID : 6306801770138
Option 4 ID : 6306801770137
Status : Answered
Chosen Option : 2
Q.9  Select the option that is related to the fifth number-letter cluster in the same way as the fourth number-letter cluster is related to the
third number-letter cluster and the second number-letter cluster is related to the first number-letter cluster.
PRETTY : ERPUUZ :: LOVELY : VOLFMZ :: DREAMY : ?
Ans X 1. ESFANZ
+ 2. ERDBNZ
X 3. ERDCNZ
X 4 ESFYMA
Question ID : 630680453306
Option 1 ID : 6306801770235
Option 2 ID : 6306801770232
Option 3 ID : 6306801770233
Option 4 ID : 6306801770234
Status : Answered
Chosen Option : 2
Q.10 Six friends, Hank, Prank, Crank, Rank, Sank. and Tank are sitting around a circular table facing each other. Crank is exactly in
between Tank and Prank. Rank is exactly in between Hank and Sank. Sank sits to the immediate right of Tank. Who sits to the
immediate left of Prank?
Ans 1. Hank
X 2. Rank
X 3. Sank
X 4. Crank
Question ID : 630680453324
Option 1 ID : 6306801770304
Option 2 ID : 6306801770307
Option 3 ID : 6306801770306
Option 4 ID : 6306801770305
Status : Answered
Chosen Option : 1

Section : Part 1 Computer Literacy




Q.1 What does the term "hexadecimal” represent in computing?

Ans

5 1. Base 2 numbering system
o 2. Base 16 numbering system
/< 3. Base 10 numbering system
/< 4. Base 8 numbering system

Question ID : 630680452727
Option 1 ID : 6306801767920
Option 2 ID : 6306801767923
Option 3 ID : 6306801767922
Option 4 ID : 6306801767921
Status : Answered
Chosen Option : 2
Q.2 Which component of a computer is responsible for temporarily storing data and
program instructions during processing?
Ans X 1.HDD (Hard Disk Drive)
25 2. GPU (Graphics Processing Unit)
«” 3. RAM (Random Access Memory)
/5 4. CPU (Central Processing Unit)
Question ID : 630680452721
Option 1 ID : 6306801767898
Option 2 ID : 6306801767899
Option 3 ID : 6306801767896
Option 4 ID : 6306801767897
Status : Answered
Chosen Option : 3
Q.3 In the context of operating systems, what is a context switch?
Ans X 1. Switching between different operating systems
/< 2. Switching between different user accounts
o 3. Switching between different applications
/< 4. Switching between different hardware devices
Question ID : 630680452733
Option 1 ID : 6306801767947
Option 2 ID : 6306801767944
Option 3 ID : 6306801767945
Option 4 ID : 6306801767946
Status : Answered
Chosen Option : 1
Q.4 Which ethical principle suggests that individuals should have control over their own
personal data?
Ans X 1.Data stewardship
«” 2. Data ownership
/< 3. Data autonomy
/X 4. Data sovereignty
Question ID : 630680452715
Option 1 ID : 6306801767872
Option 2 ID : 6306801767875
Option 3 ID : 6306801767874
Option 4 ID : 6306801767873
Status : Answered
Chosen Option : 2




Q.5 In the context of networking, what does QoS stand for?
Ans  # 1. Quality of Service

# 2. Quantitative Output Scanner
#< 3. Quick Online Support

# 4. Query Optimization System

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680452709
6306801767848
6306801767851
6306801767849
6306801767850
Not Answered

Section : Part 1 Child Development Learning Curriculum and Assessment

Q.1 In the process of curriculum development at the elementary level, why is a needs
assessment crucial?

Ans  «# 1. To ensure the curriculum aligns with societal and learner needs.
#< 2. To increase the number of subjects.
#5 3. To limit the input of educators.

75 4. To make the curriculum more challenging.

Status

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

630680452874

6306801768509
6306801768508
6306801768511
6306801768510

: Answered
Chosen Option :

1

Q.2 What principle of curriculum construction facilitates adaptation to changing societal,
technological, and educational demands?

Ans X 1.Integration
o 2. Flexibility
< 3. Inflexibility
X 4. Complexity

Status

Question ID :
Option 11D :
Option 2D :
Option 3 ID :
Option 4 ID :
: Answered
Chosen Option :

630680452868

6306801768486
6306801768487
6306801768484
6306801768485

1




Q.3 Which technique can be used by teachers to encourage students to think deeper
during a discussion?

Ans  «# 1. Using leading questions.
#< 2. Encouraging rote memorization.
#< 3. Avoiding student queries.

#5 4. Providing immediate answers.

Question ID : 630680452910
Option 1 ID : 6306801768653
Option 2 ID : 6306801768655
Option 3 ID : 6306801768654
Option 4 ID : 6306801768652
Status : Answered
Chosen Option : 1
Q.4 When a student tries to understand the underlying concept rather than just
memorizing the facts, what type of learning is the student engaging in?
Ans o 1. Deep learning
< 2. Rote learning
/< 3. Surface learning
75 4. Passive learning
Question ID : 630680452928
Option 1 ID : 6306801768726
Option 2 ID : 6306801768725
Option 3 ID : 6306801768724
Option 4 ID : 6306801768727
Status : Answered
Chosen Option : 1
Q.5 Why is parental involvement encouraged in the implementation of inclusive
education?
Ans X 1. To reduce the school's responsibilities.
«” 2. To foster a deeper connection between home and school.
#< 3. To minimize extracurricular activities.
25 4. To focus solely on academic achievements.
Question ID : 630680452880
Option 1 ID : 6306801768532
Option 2 ID : 6306801768533
Option 3 ID : 6306801768535
Option 4 ID : 6306801768534
Status : Answered
Chosen Option : 2
Q.6 When preparing a unit test, what should primarily guide the selection of content?
Ans X 1.Feedback from students about what they found easy.
o 2. Key concepts, skills, and objectives outlined for that unit.
#5 3. Questions from previous year's final exams.
/< 4. Recent news related to the topic.
Question ID : 630680452892
Option 1 ID : 6306801768581
Option 2 ID : 6306801768582
Option 3 ID : 6306801768583
Option 4 ID : 6306801768580
Status : Answered
Chosen Option : 2




Q.7 Which issue is often associated with the teacher-centered approach?
Ans X 1. Overemphasis on experiences
X 2. Too student-driven
#< 3. Too much flexibility

o 4. Over-reliance on textbooks

Question ID : 630680452850
Option 1 ID : 6306801768415
Option 2 ID : 6306801768414
Option 3 ID : 6306801768412
Option 4 ID : 6306801768413
Status : Answered
Chosen Option : 4
Q.8 RTE places a strong emphasis on the qualifications of school teachers. By what year
were all teachers expected to possess the necessary qualifications?
Ans X 1.2017
< 2.2012
«” 3.2019
< 4.2015
Question ID : 630680452862
Option 1 ID : 6306801768462
Option 2 ID : 6306801768460
Option 3 ID : 6306801768463
Option 4 ID : 6306801768461
Status : Not Answered
Chosen Option : ==
Q.9 Why is the logical organization of learning materials crucial for effective learning?
Ans X 1.Toincrease the volume of content.
/< 2. To create a rigid learning structure.
/< 3. To ensure aesthetically pleasing content.
& 4. To enhance comprehension and retehtion.
Question ID : 630680452934
Option 1 ID : 6306801768748
Option 2 ID : 6306801768751
Option 3 ID : 6306801768749
Option 4 ID : 6306801768750
Status : Answered
Chosen Option : 4
Q.10 Which of the following best describes a curriculum that integrates local culture and
experiences?
Ans X 1.Rote-based Curriculum
«” 2. Contextualized Curriculum
#< 3. Generic Curriculum
#X 4. Centralized Curriculum
Question ID : 630680452904
Option 1 ID : 6306801768631
Option 2 ID : 6306801768630
Option 3 ID : 6306801768628
Option 4 ID : 6306801768629
Status : Answered
Chosen Option : 4




Q.11 Which factor primarily influences the nature of learning in children?

Ans  # 1. Interaction with the environment.
#< 2. Physical strength.

X 3. Immediate rewards.

&K 4.Age
Question ID : 630680452916
Option 1 ID : 6306801768678
Option 2 ID : 6306801768676
Option 3 ID : 6306801768677
Option 4 ID : 6306801768679
Status : Answered
Chosen Option : 1
Q.12 Which psychologist is most closely associated with the concept of observational
learning, highlighting how individuals can learn by simply watching others?
Ans X 1.Erik Erikson
25 2. Jean Piaget
«” 3. Albert Bandura
#< 4. B.F. Skinner
Question ID : 630680452922
Option 1 ID : 6306801768700
Option 2 ID : 6306801768701
Option 3 ID : 6306801768703
Option 4 ID : 6306801768702
Status : Answered
Chosen Option : 3
Q.13 Why is ensuring a safe educational environment crucial for the education of the girl
child?
Ans " 1. To address concerns of security and enhance female enroliment.
Z< 2. To minimize extracurricular activities.
#< 3. To decrease enrollment rates.
/X 4. To discourage community participation.
Question ID : 630680452886
Option 1 ID : 6306801768558
Option 2 ID : 6306801768559
Option 3 ID : 6306801768556
Option 4 ID : 6306801768557
Status : Answered
Chosen Option : 1
Q.14 How does 'assessment’ differ from measurement and evaluation in education?
Ans X 1.It's exclusively for grading purposes.
75 2. It only involves oral examinations.
#< 3. It's limited to numerical scores.
«” 4. It's a broader process encompassing measurement, evaluation, and feedback.
Question ID : 630680452898
Option 1 ID : 6306801768607
Option 2 ID : 6306801768606
Option 3 ID : 6306801768604
Option 4 ID : 6306801768605
Status : Answered
Chosen Option : 4




Q.15 Which type of activity aligns directly with the formal curriculum?

Ans

& 1. Other-curricular
«” 2. Curricular
& 3. Co-curricular

& 4. Extracurricular

Question ID : 630680452856
Option 1 ID : 6306801768439
Option 2 ID : 6306801768438
Option 3 ID : 6306801768437
Option 4 ID : 6306801768436
Status : Answered
Chosen Option : 2
Section : Part Il Subject Contents
Q.1  The given histogram shows the number of workshops organised by a NGO in different areas during the last five years. What is the
total number of workshops organised?
2000
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Ans 1. 9561
X 2. 9400
X 3. 9500
< 4. 9560
Question ID : 630680453555
Option 1 ID : 6306801771229
Option 2 ID : 6306801771231
Option 3 ID : 6306801771230
Option 4 ID : 6306801771228
Status : Answered
Chosen Option : 1
Q.2 Aclock, which loses 7 minutes per day. is set to show the correct time at 1:00 p.n1. on a Monday. What time does the clock show at
1:00 p.m. on the next Monday?
Ans 1. 11:11 ane
X2 1:11 pm.
X3 12:21 pm.
4 12:11 p.m.
Question ID : 630680453573
Option 1 ID : 6306801771300
Option 2 ID : 6306801771302
Option 3 ID : 6306801771303
Option 4 ID : 6306801771301
Status : Not Answered

Chosen Option :




Q.3
Ans

If Pramod takes 77 minutes to walk to the store and 60 minutes to walk back home, what is the total time he spent walking?

X 1. 1 hours 20 minutes
X 2. 1 hours 17 minutes
A 3. 2 hours 20 minutes
« 4. 2 hours 17 minutes

Question ID : 630680453566
Option 1 ID : 6306801771275
Option 2 ID : 6306801771272
Option 3 ID : 6306801771273
Option 4 ID : 6306801771274
Status : Answered
Chosen Option : 4
Q4 Inaclass of 150 students, 33 are girls. Find the percentage of boys in the class.
Ans X 1. 77%
X 2. 00%
« 3. 78%
X 4. 649%
Question ID : 630680453585
Option 1 ID : 6306801771349
Option 2 ID : 6306801771351
Option 3 ID : 6306801771348
Option 4 ID : 6306801771350
Status : Answered
Chosen Option : 3
Q5 YWhat is the order of rotational symmetry of an equilateral triangle?
Ans 1. 3
X2 2
X3 0
X4 ]
Question ID : 630680453603
Option 1 ID : 6306801771423
Option 2 ID : 6306801771421
Option 3 ID : 6306801771420
Option 4 ID : 6306801771422
Status : Answered

Chosen Option :

1




Q.6  Astudent has to secure 34% marks to pass in an exam. He gets 147 marks and fails by 23 marks. What is the maximum marks?

Ans X 1. 440
X 2. 580
X 3. 600
4 500

Question ID : 630680453597
Option 1 ID : 6306801771396
Option 2 ID : 6306801771398
Option 3 ID : 6306801771399
Option 4 ID : 6306801771397
Status : Answered
Chosen Option : 4

Q.7  Find the total surface area of a cone, if its slant height is 22 cm and diameter of its base is 42 cm.
Ans X 1. 2722 coi?

A 2. 2488 cnp?

« 3. 2838 cm?

K 4. 2480 cm?

Question ID : 630680453609
Option 1 ID : 6306801771445
Option 2 ID : 6306801771444
Option 3 ID : 6306801771446
Option 4 ID : 6306801771447
Status : Answered
Chosen Option : 3

Q8 Find the value of 48 + 4 x (7+ 11 of 4) + 382
Ans X 1. 664

X2 570

3. 648

X 4. 640

Question ID : 630680453591
Option 1 ID : 6306801771372
Option 2 ID : 6306801771374
Option 3 ID : 6306801771373
Option 4 ID : 6306801771375
Status : Answered
Chosen Option : 3




Q9  Two numbers are in the ratio of 14:15. If their HCF is 2, find the numbers.
X 1. 28 and 60
« 2. 28 and 30
X 3. 44 and 55
X4 22 and 44

Ans

Question ID : 630680453579
Option 1 ID : 6306801771325
Option 2 ID : 6306801771326
Option 3 ID : 6306801771327
Option 4 ID : 6306801771324
Status : Answered
Chosen Option : 2
Q.10 The given bar graph shows the number of people who visited five different types of exhibitions. Find the difference between the total
number of people who visited Food exhibition and the number of people who visited Art and Car exhibitions together.
x = I l
E 400
Exhibition
Ans X 1. 253
X 2. 249
« 3. 241
X 4. 255
Question ID : 630680453561
Option 1 ID : 6306801771255
Option 2 ID : 6306801771254
Option 3 ID : 6306801771252
Option 4 ID : 6306801771253
Status : Answered
Chosen Option : 3
Q.11 What is the full form of PILs?
Ans X 1.Person Interest Litigation
75 2. Personal Interest Litigation
X 3. People Interest Litigation
o 4. Public Interest Litigation
Question ID : 630680453215
Option 1 ID : 6306801769870
Option 2 ID : 6306801769871
Option 3 ID : 6306801769868
Option 4 ID : 6306801769869
Status : Answered
Chosen Option : 4




Q.12 Bile juice is release by
Ans X 1.Pancreas

o 2. Liver
#< 3. Mucous
#< 4. Pharynx
Question ID : 630680453239
Option 1 ID : 6306801769965
Option 2 ID : 6306801769964
Option 3 ID : 6306801769967
Option 4 ID : 6306801769966
Status : Answered
Chosen Option : 2
Q.13 Which of the following is not a type of Hazard?
Ans o 1. Electrical
/< 2. Biological
75 3. Physical
75 4. Chemical
Question ID : 630680453227
Option 1 ID : 6306801769919
Option 2 ID : 6306801769918
Option 3 ID : 6306801769916
Option 4 ID : 6306801769917
Status : Answered
Chosen Option : 3
Q.14 Normal rainfall rate of Odisha is:
Ans X 1.1400 mm
& 2. 1450 mm
#< 3.1300 mm
< 4.1350 mm
Question ID : 630680453257
Option 1 ID : 6306801770038
Option 2 ID : 6306801770039
Option 3 ID : 6306801770036
Option 4 ID : 6306801770037
Status : Not Answered
Chosen Option : --
Q.15 Scientifically design places specially made for disposal of waste is known as:
Ans X 1.Industrial Plants
& 2. Landfill
< 3. Commercial Depots
25 4. Incinerators
Question ID : 630680453221
Option 1 ID : 6306801769894
Option 2 ID : 6306801769893
Option 3 ID : 6306801769895
Option 4 ID : 6306801769892
Status : Answered
Chosen Option : 2




Q.16 Which of the following properties of matter that are dependent on amount of matter

Ans

present?

o 1. Extensive properties
25 2. Chemical properties
#< 3. Intensive properties

#< 4. Thermal properties

Question ID : 630680453245
Option 1 ID : 6306801769988
Option 2 ID : 6306801769991
Option 3 ID : 6306801769989
Option 4 ID : 6306801769990
Status : Answered
Chosen Option : 2
Q.17 Which of the following is not a Kharif crop?
Ans X 1.Maize
< 2.Bajra
” 3. Wheat
#5 4. Cotton
Question ID : 630680453263
Option 1 ID : 6306801770060
Option 2 ID : 6306801770062
Option 3 ID : 6306801770061
Option 4 ID : 6306801770063
Status : Answered
Chosen Option : 3
Q.18 In which of the following year, Quit India Movement started?
Ans X 1.1939
o 2. 1942
X 3.1940
X 4.1941
Question ID : 630680453233
Option 1 ID : 6306801769940
Option 2 ID : 6306801769943
Option 3 ID : 6306801769941
Option 4 ID : 6306801769942
Status : Answered
Chosen Option : 2
Q.19 Related to the topography of Odisha, the heights of Western rolling uplands vary from
153 meters to meters.
Ans X 1.510
< 2.25
o 3.305
X 4.200
Question ID : 630680453269
Option 1 ID : 6306801770086
Option 2 ID : 6306801770085
Option 3 ID : 6306801770087
Option 4 ID : 6306801770084
Status : Not Answered

Chosen Option :




Ans X 1.Pressure

o 3. Density

#< 4. Compression

Q.20 Which of the following is a factor that affects diffusion?

#< 2. Intermolecular Space

Question ID : 630680453251
Option 1 ID : 6306801770013
Option 2 ID : 6306801770014
Option 3 ID : 6306801770012
Option 4 ID : 6306801770015
Status : Not Answered
Chosen Option : ==
Q.21 Fill in the blank with the correct adverb.
She sang the lullaby to soothe her baby to sleep.
Ans X 1.clumsily
25 2. wildly
«” 3. melodiously
X 4. seriously
Question ID : 630680453747
Option 1 ID : 6306801771941
Option 2 ID : 6306801771943
Option 3 ID : 6306801771940
Option 4 ID : 6306801771942
Status : Answered
Chosen Option : 3
Q.22 Fill in the blank with the correct possessive noun.
She admired her beautiful artwork.
Ans X 1.friend
/X 2. friends
75 3. friends'
¥ 4. friend's
Question ID : 630680453753
Option 1 ID : 6306801771964
Option 2 ID : 6306801771965
Option 3 ID : 6306801771966
Option 4 ID : 6306801771967
Status : Answered
Chosen Option : 3
Q.23 Complete the sentence with the appropriate article to make it grammatically correct.
She found dollar on the sidewalk.
Ans X 1.an
X 2. the
o 3.2
/< 4. no article needed
Question ID : 630680453735
Option 1 ID : 6306801771892
Option 2 ID : 6306801771894
Option 3 ID : 6306801771893
Option 4 ID : 6306801771895
Status : Answered
Chosen Option : 3




Q.24 The word given in the brackets defines the modification of the noun. Based on this

understanding fill in the blank with the correct adjective from the given options.

The (foreign) forest was filled with rare and unusual plants that fascinated

botanists from around the world.
Ans X 1.crowded

< 2. tacit
< 3. gloomy
¥ 4. exotic
Question ID : 630680453741
Option 1 ID : 6306801771917
Option 2 ID : 6306801771919
Option 3 ID : 6306801771918
Option 4 ID : 6306801771916
Status : Answered
Chosen Option : 4
Q.25 Complete the sentence with the correct form of the tense:
In a few months, she the piano for a decade.
Ans X 1. will play
& 2. will have played
Z5 3. will be playing
«” 4. will have been playing
Question ID : 630680453783
Option 1 ID : 6306801772087
Option 2 ID : 6306801772084
Option 3 ID : 6306801772085
Option 4 ID : 6306801772086
Status : Answered
Chosen Option : 2
Q.26 Complete the sentence with the correct form of the tense:
He his opinion on this matter for years until now.
Ans X 1.hasn't change
/5 2. hasn't been changing
#< 3. doesn't change
4. didn't change
Question ID : 630680453789
Option 1 ID : 6306801772108
Option 2 ID : 6306801772109
Option 3 ID : 6306801772111
Option 4 ID : 6306801772110
Status : Answered
Chosen Option : 4




Q.27 Fill in the blank with the correct phrasal verb.

I need to my research paper before the deadline.
Ans 1. turnin
25 2. bring up
#< 3.carryon
< 4. give out
Question ID : 630680453765
Option 1 ID : 6306801772015
Option 2 ID : 6306801772013
Option 3 ID : 6306801772014
Option 4 ID : 6306801772012
Status : Not Answered
Chosen Option : --
Q.28 Based on the sentence given below answer the question:
The team members, Mark, the project manager, and Mary, the lead developer, gathered
for the meeting.
The commas around "the project manager" and "the lead developer" serve to
Ans X 1.join two independent clauses
o 2. set off nonessential information
Z5 3. indicate omitted words
/< 4. create a compound sentence
Question ID : 630680453777
Option 1 ID : 6306801772063
Option 2 ID : 6306801772061
Option 3 ID : 6306801772060
Option 4 ID : 6306801772062
Status : Not Answered
Chosen Option : --
Q.29 Choose the correct meaning of the punctuation from the given options:
"It's going to be a beautiful day at the beach,"” the apostrophe in "It's" indicates
Ans X 1.a plural form of "it"
#< 2. a possessive form of "it"
«” 3. a contraction of "It is"
/X 4. possession of the beach
Question ID : 630680453771
Option 1 ID : 6306801772038
Option 2 ID : 6306801772039
Option 3 ID : 6306801772036
Option 4 ID : 6306801772037
Status : Answered
Chosen Option : 2




Q.30 Fill in the blank with the correct preposition.
The musicians played their instruments, filling the concert hall

melodies.
Ans o 1. with

75 2. for the sake of
/< 3. against
X 4. instead of

beautiful

Question ID : 630680453759
Option 1 ID : 6306801771989
Option 2 ID : 6306801771988
Option 3 ID : 6306801771990
Option 4 ID : 6306801771991
Status : Answered
Chosen Option : 1
Q.31 6Qeer s199 AeIde]RIS S8 ggoeal
Ans X' 1.29@
K 2,296
o 3.9
X 4,969
Question ID : 630680453873
Option 1 ID : 6306801772445
Option 2 ID : 6306801772447
Option 3 ID : 6306801772444
Option 4 ID : 6306801772446
Status : Answered
Chosen Option : 4
Q.32 gol'q 64IRg 65166 49 RIGE | AYD R FIR RIS 996 ! |
Ans 1. 2915 §4¢
X 2. AendmId
X 3.2% 69969 9d48 RS
X 4,29 QI8
Question ID : 630680453888
Option 1 ID : 6306801772504
Option 2 ID : 6306801772506
Option 3 ID : 6306801772505
Option 4 ID : 6306801772507
Status : Answered
Chosen Option : 1
Q.33 QIgIg A99°gl 6]IM QLIAING ?
Ans X 1. Gl
o 2. 65
X 3.9
X 4.999
Question ID : 630680455684
Option 1 ID : 6306801779685
Option 2 ID : 6306801779687
Option 3 ID : 6306801779686
Option 4 ID : 6306801779688
Status : Answered
Chosen Option : 2




Q.34 G OF RAG @6l QLI ?
Ans X' 1. douel

X 2.999
o 3.9
X 4.9
Question ID : 630680453844
Option 1 ID : 6306801772329
Option 2 ID : 6306801772328
Option 3 ID : 6306801772331
Option 4 ID : 6306801772330
Status : Answered
Chosen Option : 3
Q.35 6ol 618 AGIA R | 9T SISY6R 689G ASqIA G ?
Ans .71 60l
X 2.9
X 3. a6l
X 4.0
Question ID : 630680455685
Option 1 ID : 6306801779691
Option 2 ID : 6306801779689
Option 3 ID : 6306801779692
Option 4 ID : 6306801779690
Status : Answered
Chosen Option : 1
Q.36 “ggig”-slaq deaa a6l ?
Ans X' 1. QI@IG1
X 2. QQ°¢
o 3. Qlal
X 4.Qay
Question ID : 630680455680
Option 1 ID : 6306801779672
Option 2 ID : 6306801779670
Option 3 ID : 6306801779669
Option 4 ID : 6306801779671
Status : Answered
Chosen Option : 3
Q.37 ‘QRS’ 41N 69Q I ol ?
Ans X' 1 Gig Gal
X 2. gadle g
& 3. 208 Gl
X 4. 991091 Gl
Question ID : 630680453847
Option 1 ID : 6306801772341
Option 2 ID : 6306801772342
Option 3 ID : 6306801772340
Option 4 ID : 6306801772343
Status : Answered
Chosen Option : 3




Q.38 “@QQ” SINQ FANCELRIS §I19 K6l ?
Ans X' 1. 903IR

X 2. 996R94
X 3.2909R
o 4. 499%
Question ID : 630680455682
Option 1 ID : 6306801779677
Option 2 ID : 6306801779678
Option 3 ID : 6306801779679
Option 4 ID : 6306801779680
Status : Answered
Chosen Option : 4
Q.39 geq eg8 - 6slEFe 99F 60Q aeIa Gl ?
Ans 21 2ade
X 2. 9ede
X 3. 6459
X 4.9qde
Question ID : 630680453852
Option 1 ID : 6306801772360
Option 2 ID : 6306801772361
Option 3 ID : 6306801772362
Option 4 ID : 6306801772363
Status : Answered
Chosen Option : 1
Q.40 «QIelleE” 699 FIRIFIER S0 ?
Ans X 1.99
X 2.99a19
o 3. 9%
X 4.690% g6%
Question ID : 630680455683
Option 1 ID : 6306801779682
Option 2 ID : 6306801779681
Option 3 ID : 6306801779683
Option 4 ID : 6306801779684
Status : Answered
Chosen Option : 3

Section : Part Il Pedagogy




Q.1

Ans

QORGS ARG 6995 e Qialdy (2Ig2e) 9657

1 NqQ E‘Jﬁ%@ﬁﬁl 6916gE R LRI 26T |
X 2.

QRG 9Lq 64I0l 96M 651N 99° 6QCR 65T Aam 696! 6LIRAED |

X 3. 655N 9g6R RS 696l FRG celneld |

X 4. 6GISN 6QEIR GBS 99° 6Q9F GGG FI&I-8g 219 |

Question ID :
Option 11D :

Option 2 ID
Option 4 ID

Chosen Option

630680453524
6306801771106

: 6306801771105
Option 3D :

6306801771107

: 6306801771104
Status :
03

Answered

Q.2 @68 590 (i) 95 §6F Sug QEgIde @Q1g 959, (i) fef ges a09Ig 959 G2 (i) g6 181N 9581g 626 | RIRYS

Ans

G 666G 499 dis 99015 KD 266

X 1. AEULIER I8G (Deductive method)

X 2. QeIYl AeIe 9SE (Problem-solving method)

v 5 2I6ULIFR 986 (Inductive method)
X 4 Q6859 99¢ (synthetic method)

Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID

630680453542

6306801771177
6306801771178
6306801771176

: 6306801771179
Status :
Chosen Option :

Answered
3

Q.3 Given two natural numbers a and b, we can always find two natural numbers q and r such that a = bq + r. Which of the following is

Ans

always true?

X1 0==q=<r
X 2. Cu::q{b
X3 0=r=q<b
4 0<=r<b

Question ID :

Option 11D :
Option 2D :
Option 31D :
Option 4 ID

Status :

630680453536

6306801771155
6306801771152
6306801771153

: 6306801771154

Not Answered

Chosen Option : --




GG 69618 69R QIFl KIG] IRl QEINIS 9918 6AZIEM |
-olimm3
Q6 958 60 fgRGe UM QUG oG 6908
Ane X1 QEiees 90Re!
X 2. Q8¢ FRIFER MIFR FgI9g 94 FAULIRAIRS
X 3. 98ISR gErnite 99%
¥4 qI8Ee aIslen 6dledue!

Question ID : 630680453518
Option 1 ID : 6306801771082
Option 2 ID : 6306801771080
Option 3 ID : 6306801771081
Option 4 ID : 6306801771083
Status : Answered
Chosen Option : 3
Q.5 Relate the given descriptions with suitable objectives in the cognitive domain.
Descriptions:
(1) The ability to remember and recall or recognise already learned information.
(ii) The ability to organise and arrange materials mentally without necessarily relating it to other material.
Ans X 1. (i)-comprehension and (ii)-knowledge
X 2. (i)-comprehension and (ii)-analysis
X 3. (i)-knowledge and (ii)-analysis
« 4. (1)-knowledge and (ii)-comprehension
Question ID : 630680453530
Option 1 ID : 6306801771128
Option 2 ID : 6306801771131
Option 3 ID : 6306801771130
Option 4 ID : 6306801771129
Status : Answered
Chosen Option : 1
Q.6 69Q dalg, 661I§‘\‘| UGG 95¢ K69 64, EVS FIFIFIQ 689R 65161198 695°6Q ANEe
Q8ql abg g6e?
Ans X' 1. 9gQlgl @13 (Principle of Totality)
o 2. 65l 2IRIS 6% VSR @& (Principle of Open-Air Learning)
X 3. 9AISSIQ Q16 (Principle of Uniformity)
X 4. 989999 @18 (Principle of Restriction)
Question ID : 630680453203
Option 1 ID : 6306801769821
Option 2 ID : 6306801769822
Option 3 ID : 6306801769823
Option 4 ID : 6306801769820
Status : Answered
Chosen Option : 2




Q.7 Which principle is fundamental to effective EVS teaching?

Ans X 1. Prioritizing rote learning.

/5 2. Focusing solely on theoretical knowledge.

o 3. Integrating interdisciplinary themes and emphasizing the interconnectedness of the

environment, society, and economy.

/< 4. Avoiding real-world connections.

Question ID : 630680453209
Option 1 ID : 6306801769845
Option 2 ID : 6306801769847
Option 3 ID : 6306801769846
Option 4 ID : 6306801769844
Status : Answered
Chosen Option : 3
Q.8 Which statement best describes the significance of understanding the core concepts
in EVS?
Ans X 1.ltis solely for meeting academic curriculum requirements.
#< 2. It only focuses on understanding human societies without considering the
environment.
#5 3. It helps in understanding the environment from a theoretical perspective only.
«” 4. It aids in building a foundation for deeper explorations into environmental issues and
solutions.
Question ID : 630680453185
Option 1 ID : 6306801769748
Option 2 ID : 6306801769751
Option 3 ID : 6306801769749
Option 4 ID : 6306801769750
Status : Answered
Chosen Option : 4
Q.9 In EVS pedagogy, the significance of 'field trips’ is to:
Ans X 1. Take a break from studies
5 2. Only for recreational purposes
«” 3. Offer an authentic firsthand experience of environmental concepts
5 4. Avoid classroom learning
Question ID : 630680453197
Option 1 ID : 6306801769796
Option 2 ID : 6306801769798
Option 3 ID : 6306801769797
Option 4 ID : 6306801769799
Status : Answered
Chosen Option : 3




Q.10 What pedagogical strategy in EVS encourages students to solve real-life
environmental problems?

Ans  «# 1. Problem-solving approach
#5 2. Memorization strategy
#< 3. Lecture method

#< 4. Listening approach

Question ID : 630680453191
Option 1 ID : 6306801769773
Option 2 ID : 6306801769772
Option 3 ID : 6306801769774
Option 4 ID : 6306801769775
Status : Answered
Chosen Option : 1
Q.11 Which of the following are the characteristics of good composition writing?
Ans X 1. Clarity, accuracy, conciseness, coherence, and relevance
«” 2. Focus, development, unity, coherence, and correctness
#< 3. Graphics, colourful, vibrancy, good storyline, and life lessons
#X 4. Accuracy, verifiable, factual, rigorous, and relevance
Question ID : 630680453649
Option 1 ID : 6306801771601
Option 2 ID : 6306801771603
Option 3 ID : 6306801771602
Option 4 ID : 6306801771600
Status : Answered
Chosen Option : 3
Q.12 How can a teacher help non-native speakers with writing assignments?
Ans X 1.Allowing non-native speakers to write their assignments in their language and asking
others to translate them.
#< 2. Asking native speakers to help the others write'their assignments.
«” 3. Providing rubrics and explaining how/fiiany points are allocated to various parts of an
assignment.
/< 4. Be lenient in awarding marks to the non-native speakers in order to motivate them.
Question ID : 630680453637
Option 1 ID : 6306801771555
Option 2 ID : 6306801771552
Option 3 ID : 6306801771553
Option 4 ID : 6306801771554
Status : Answered
Chosen Option : 3




Q.13 Fill in the blank:

A learner's native language can both facilitate and
language.

Ans X 1.promote
< 2. forward

«” 3. interfere

with learning the new

X 4. simplify
Question ID : 630680453643
Option 1 ID : 6306801771579
Option 2 ID : 6306801771576
Option 3 ID : 6306801771577
Option 4 ID : 6306801771578
Status : Answered
Chosen Option : 1
Q.14 What takes place after a substantive editing but before proofreading a manuscript?
Ans ¥ 1. Copy editing
#< 2. Manuscript evaluation
#< 3. Developmental editing
X 4. Marketing
Question ID : 630680453631
Option 1 ID : 6306801771528
Option 2 ID : 6306801771529
Option 3 ID : 6306801771531
Option 4 ID : 6306801771530
Status : Not Answered
Chosen Option : --
Q.15 What kind of techniques are 'skimming' and 'scanning'?
Ans X 1. Speaking techniques
«” 2. Reading techniques
#< 3. Listening techniques
< 4. Writing techniques
Question ID : 630680453625
Option 1 ID : 6306801771505
Option 2 ID : 6306801771506
Option 3 ID : 6306801771504
Option 4 ID : 6306801771507
Status : Answered
Chosen Option : 2
Q.16 RI&69IQ AR
Ans X' 1. geldl
&K 2.9l
«” 3. BRIl
X 4. daQl
Question ID : 630680453815
Option 1 ID : 6306801772214
Option 2 ID : 6306801772215
Option 3 ID : 6306801772212
Option 4 ID : 6306801772213
Status : Answered
Chosen Option : 3




Q.17 6oa Qudl Siga AIede Sqls AR Aaqeldy 2
Ans X 1.9196 Qs

X 2. g4I Qull

o 3. Clg@ial
X 421809 Qi
Question ID : 630680453802
Option 1 ID : 6306801772163
Option 2 ID : 6306801772161
Option 3 ID : 6306801772160
Option 4 ID : 6306801772162
Status : Answered
Chosen Option : 3
Q.18 §9él B @IS galsl AUV 699 6914617 2gele ?
Ans 2 1.QUQQIRR
X 2. 2des
X 3. 9E54e
X 4. 099Re
Question ID : 630680453806
Option 1 ID : 6306801772178
Option 2 ID : 6306801772177
Option 3 ID : 6306801772176
Option 4 ID : 6306801772179
Status : Answered
Chosen Option : 1
Q.19 §9 ¢9,9¥a G SIS Y dRIFIeg FAQG a5 derael fldm edIfgem ?
Ans X' 1.6Q. QoS
X 2.8 dileem
X 3. Q@I AUACALR QL
o 4. 67109l £16€62191
Question ID : 630680453811
Option 1 ID : 6306801772196
Option 2 ID : 6306801772198
Option 3 ID : 6306801772197
Option 4 ID : 6306801772199
Status : Not Answered
Chosen Option : --
Q.20 G2 UV 696 Sl QN Q64 6AIVS 6LIRARI
Ans .7 1.900%
< 2.9008
< 3.900%
K 4. 90€m
Question ID : 630680453822
Option 1 ID : 6306801772243
Option 2 ID : 6306801772241
Option 3 ID : 6306801772240
Option 4 ID : 6306801772242
Status : Not Answered

Chosen Option :




